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1. WS A R E 4,749 4,749 0
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: 3,196,000 * 13 =
A [e=] E7FA HAE I ]
(G HH_3F) G ol 8| sh A& BEFH] 1,200,000
1,200,000 * 1ul =
AYA o] FIRADN b=
(B HH_3F) Qo3 st & A H A E 2,618,000
2,618,000 * 11 =
(B HEH_3F)Fo 3 st AL AL ARG 1,390,000
1,390,000 * 1L =
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9,000,000
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olwl 20221 029 039 104 448 32% 1 AeBeugy olgEal




20218 A =

of| A 5 +7433 (9 @ D)
+o= A4 | 714 . N
== = =~
N o] o S AFel | o] Aol H] 57} NE712(9) H] 3L
(2B D7HE A 5 = =
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AL AIZHA 7 A DAL BEG H A Y] 1 690000
1,690,000 * 13 = U
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A8 Z= )13} Bzl 8- 2= 7)) <
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1.8 8 p R se) 187,444| 206,944  -19,500
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1.2 41,774 41,774 0
1,524 41,774 41,774 0
2. 92 0 0 0
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